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Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.
All questions carry equal marks.

1. Mention the formula for Romberg Integration and
Simpson’s 1/3 rule.

Romberg Integration wmHmd Simpson’s 1/3rd

ellSlagafler e iqenar 5(Hs.

2. Give the formula for Secant and False — Position
methods.
Secant  wpmib False —  Position—ensaflen

FLOGTLIML_Iq 606N S(1HS.

3. Define Mean and Standard Deviation.

Mean wpmib Standard Deviation—gener cuenywimiss.

4. What are four moments?

BTE0T(E MOMmMeNnts—&6T GTemITe) 6T6en ?



Three unbiased coins are tossed. What 1s the
probability of obtaining

(a) all heads

(b) one head

(c) all tails.

ppem  BreERTmGET Sl Uu(hdlermer. Sl
DADESFHILD SHENEWTHE|LD, 6NN WHMILD HEHOUITHELD
LHMILD SAMETSFILD Li—& clLp eTenan BlsLpsse]?

What is the chance of getting a king in a drawn
from the pack of 52 cards?

52 ami(sdr oemer  sllgd 6@ king L (D
THULSHETE BlSLDSSH6| WMg)?

The first two moments of a distribution about the

value 5 of the variable are 2 and 20. Find the
mean and the variance.

s @rewr(h moments—saflan wlliLser wpepmGu 2
womid 20 erer 5 wrdledEer o creran. @gem mean

LOHMID variance—semer Smes.

Write down the normal equations for Regression of
XonY and Yon X.

Regression Gasr(hger X on Y wpmid Y on X-sgafler

FLOETLT(HSHENET &(H.
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10.

11.

12.

13.

Define : Data type and data object.

Data type wpmib data object—enw ellars@s.

Define : Stack and Queue.

Stack wpmib Queue—gamer a6 @s.
Write about Degree and Node.
Degree wpmib Node upm er(pgis.
Give the General procedure for INORDER (T).
INORDER (T)—eir Quimg) (pepmanit F(ms.
PART B — (5 x 6 = 30 marks)
Answer any FIVE questions.

All questions carry equal marks.

Find a root of the equations x®-4x+1=0 by

Bisection method.

Bisection weopldéd  x°-4x+1=0  eram

FLOGTLIML_Iq 60T 6(Th CLPEOSHENS &ITEH0TS.
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14. Dividing the range into 10 equal parts, find the

m
approximate value of I sinx dx by Trapezoidal
0

rule.

10 swursmigerns Wflsg), Trapezoidal afgluder epeoid

Ve
jsinx dx - dienL SrenTs.
0

15. Calculate Quartile Deviation and its Coefficient
from the following data :

X: 60 61 62 63 65 70 75 80

Yy: 13 5 7 10 3 1 1
Quartile Deviation wpmid <iger Coefficient—seaner
WlevTeu(HLD eleu TS @ &S, STeus.

X: 60 61 62 63 65 70 75 80

Yy: 1.3 5 7 10 3 1 1

16. Find the Standard Deviation of the following
data :

X:'1 2 3 4 5 6 7 8 9
Y: 92 49 52 82 102 60 35 24 4

Yereumd ellurmsErsE Standard Deviation—sener
SITE00T 5.

X:'1 2 3 4 5 6 7 8 9
Y: 92 49 52 82 102 60 35 24 4
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17.

18.

19.

20.

Calculate the Rank Correlation Coefficient of the
following data :

X: 52 53 42 60 45 41 37 38 25 27
Y: 65 68 43 38 77 48 35 30 25 50

Yemeumd  efleurmis@nsE — Rank  Correlation
Coefficientenw smems.

X: 52 53 42 60 45 41 37 38 25 27
Y: 65 68 43 38 77 48 35 30 25 50

Explain the various operations on Queue.

Queue—ar Leuans CFwUT Igamen 6leTéEs.

Discuss about Hashing functions and complexity.

Hashing  functions wHmid  complexity—enw
elleurdlss.

PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.

All questions carry equal marks.

Apply the fourth order R.K. method, to find an
approximate value of Y when X =0.2, given that
y=x+y,y0)=1, h=0.1.

Y-ar wieou R.K. fourth order apenpuiier X =0.2
A5 Q@Qms@Léung  srams. QaTOEsLULLael
y=x+y,y(0)=1, h=0.1.
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21. Solve, by Gauss—Seidal method.
10x+2y+2z=9
2x +20y -2z =-44
—-2x+3y+10z =22.
Gauss—Seidal @penpuliler Srés.
10x+2y+z=9
2x+20y -2z =-44
-2x +3y +10z =22.

22. Calculate the first four moments about the mean

for the following data :
X:1 2 3 4 5 6 7 8 9

Y: 1 6 13 25 30 22 9 5 2
FITEM ePELOTS (LPSE Menn@ momentsepw Gema(mHLd
SNl oIS (Eh S SanTES (H5.

X:1 23 4 5 6 789

Y: 1 6 13 25 30 22 9 5 2

23. Calculate Pearson’s Coefficient of Correlation form
the following data :

X: 39 65 62 90 82 75 25 98 36 78
Y: 47 53 58 86 62 68 60 91 51 84
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Gereupd  efleurisener  LwetL(hss — Pearson’s
Coefficient of Correlation—enws sawrés(Hs.
X: 39 65 62 90 82 75 25 98 36 78

Y: 47 53 58 86 62 68 60 91 51 84

24. Explain with an example of polynomial addition
and post fix conversion.

555 T(H5g&sT._(HLer polynomial addition wmmibd
post fix conversion—sener alendEs.
25. Describe on Binary Search and Merge Sort.

Binary Search wpmib Merge Sort <ydluemeugemar
aleufés.
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